
 

X Poisson t

P xx e t X I O l 2,3

Exercise 4A Q 11

X Poco 3
For 20 days 4 Po G

P 4 5 0.1606

P YES 0.8472

X Po 9

Ho X i 9 where X is number of

H X L 9 breakdowns in 30 period
P XI 5 O 1157 75

Accept Ho Not s Hic et evidence to support
view number of breakdowns has decreased

Exercise AB Q1

a Ho 4 5 5 H X a 5 5 II sig level

P X E c 0.0265
P X C 2 Or 0883

critical region X E l

Poisson Recap



b Ho 4 8 H K 8 I Sig level

p x Ela O 9827

P XI 15 0.9917

P X is I PIX Eia O 0173

P X 16 l PC X 5 O 0083 L 1

Critical Region X 716

Q 8 X Poco
Y Poc 7.5

Ho 1 7 5 H X 77.5

P X E 2 0.0202

P X E 13 O 9784

P X 14 I P XEc3 O 0216

Critical Region X E 2 u X 314


